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> plot(sin(2*Pi*x),x=-2..2);
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> plot(1.5*sin(2*Pi*0.6*x+1),x=-2..2);
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> w := waves1(x,f->1/(1+f^2),5,3);

w .1528280125 ( )sin +10.47197551 x 3.943294813 := 

.04767112316 ( )sin +20.94395103 x 3.084630808+

.02220577959 ( )sin +31.41592654 x 2.403573914+
> plot(w,x=-1..1);
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> w := waves1(x,f->1/(1+f^2),5,300):
> plot(w,x=-1..1);
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> plot(waves1(x,f->1/(1+f^2),10,1000), x=-1..1);
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> plot(waves1(x,f->1/(1+f^2)^0.5,10,1000), x=-1..1);
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> plot(waves1(x,f->1,10,1000), x=-1..1);
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> plot3d(sin(2*Pi*(cos(1)*x+sin(1)*y)),

       x=-1.5..1.5,y=-1.5..1.5,grid=[50,50]);
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> plot3d(waves2(x,y,f->exp(-f^2),10,500),

       x=-1.5..1.5,y=-1.5..1.5,grid=[50,50]);

> plot3d(waves2(x,y,f->1/(1+f^2),10,500),

       x=-1.5..1.5,y=-1.5..1.5,grid=[50,50]);
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